
Key # / Part # Component
AA40004] P586 - BORDER CONTROL UNIT TA1    

[HCB640SS] M6*40 ISO 8677 CUP HEAD SQAURE NECK BOLT
[HCB645SS] M6*45 ISO 8677 CUP HEAD SQAURE NECK BOLT

[HNYLN6SS] ISO10511 NYLOCK NUT M6 - 985 SMALL
[CRD40030] P589-001 UPPER ROD 700mm

[HRPIN1SS] C1040 DIN 11024 SPRING COTTOR PIN 1mm
[CSM40031] P590 BORDER CONTROL LOWER ROD

[AAA40002] P651-003 CONTROL UNIT TA1                               
[CRD40028] P588-004 LOWER ROD TA1

[CRD40027] P587-001 UPPER ROD 730mm
[HRPIN1SS] C1040 DIN 11024 SPRING COTTOR PIN 1mm

[AAA40006] GEAR BOX TA1
[CRD36044] P122-002/C1019 U SHAFT KEY

[CPL40006] P579-003 IMPELLER TA1

[AAA40012] HOPPER BOTTOM PLATE SUB ASSEMBLY
[AAA40003] P591-001 CORNER MECHANISM TA1
[CPL36036] P524-002 BUSHING HOPPER SHIELD
[CFT36034] P525-002 BUSHING HOPPER SEAL

[CSM36033] P526-003 BUSHING HOPPER PLATE
[CPL40052] P570 HOPPER TA1 WITH PRINTING

[AAA40008] HOPPER SIEVE LOCK SUB ASSEMBLY TA1
[CSM40020] P600-001 BRACKET HOPPER SIEVE SHORT

[CSM36032] P206-001/CR3002 BRACKET HOPPER SIEVE

[CTU40024] P595-003 AXLE 16 SS TA1
[CPL40051] P105-001/CR3021 BEARING AXLE 16 GREEN

[HHB645SS] M6*45 ISO 4017 HEXAGON BOLT
[HNYLN6SS] ISO10511 NYLOCK NUT M6 - 985

[CRU40026] P604 HANDLE GRIP TA1
[AAA40005] P585-004 HANDLE

[CTU40016] P584-003 BACK SUPPORT
[CPL25010] BOPBSBFB25T BUSH FOR 1.2 THICK

[CTU40015] P583-001 HOPPER SUPPORT

[AAA40013] WHEEL ASSEMBLY TUBELESS 13*5-6 ORANGE AECHSON
[CLP40047] LINCH PIN TA1
[CPP40048] PTO PIN TA1

[HPW173SS] PLAIN WASHER M17*3mm

[CRD36046] P453-AGITATOR 80mm
[HCB645SS] M6*45 ISO 8677 CUP HEAD SQUARE NECK BOLT

[HHB665SS] M6*65 ISO 4017 HEXAGON BOLT
[HHB640SS] M6*40 ISO 4017 HEXAGON BOLT
[HHB645SS] M6*45 ISO 4017 HEXAGON BOLT

[CRD36044] P122-002/C1019 U SHAFT KEY
[CPL40014] ANDERSON KEY
[CLP40047] LINCH PIN TA1
[CPP40048] PTO PIN TA1

[HPW173SS] PLAIN WASHER M17*3mm

[CPL40014] ANDERSON KEY

[CPL40051] P105-001/CR3021 BEARING AXLE 16 GREEN
[CPL36035] P523-001 BUSHING HOPPER LONG

[AAA40015] RAIN COVER TA1 WITH POUCH

[CRU40026] P604 HANDLE GRIP TA1
Pair

CRU40026

13 / CKITA009

AAA40015

12 / CPL40014

1 / CKITA001

2 / CKITA002

3 / CKITA003

4 / CKITA0004

5 / CKITA005

6 / CKITA006

8 / AAA40009

10 / CKITA007

11 /  CTKITA008

7 / CKITA010

9 / CTU40015


